
Finding Percents of a Number (F)

Find the value of each percent.

95% of 5790 37% of 4729 84% of 8437 56% of 5723

65% of 7571 90% of 927 12% of 3404 9% of 2007

53% of 8566 42% of 1266 15% of 1558 94% of 5263

26% of 1873 1% of 3389 69% of 9584 47% of 6670

33% of 7225 35% of 7172 43% of 6761 79% of 3251

12% of 9473 27% of 1016 14% of 1564 96% of 7288

4% of 3303 23% of 4377 88% of 4513 99% of 1989

83% of 4220 8% of 6566 42% of 7277 23% of 3397

6% of 5772 88% of 1779 63% of 8029 62% of 8562

56% of 3028 89% of 393 21% of 3039 39% of 9947
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Finding Percents of a Number (F) Answers

Find the value of each percent.

95% of 5790 37% of 4729 84% of 8437 56% of 5723

= 5500.5 = 1749.73 = 7087.08 = 3204.88

65% of 7571 90% of 927 12% of 3404 9% of 2007

= 4921.15 = 834.3 = 408.48 = 180.63

53% of 8566 42% of 1266 15% of 1558 94% of 5263

= 4539.98 = 531.72 = 233.7 = 4947.22

26% of 1873 1% of 3389 69% of 9584 47% of 6670

= 486.98 = 33.89 = 6612.96 = 3134.9

33% of 7225 35% of 7172 43% of 6761 79% of 3251

= 2384.25 = 2510.2 = 2907.23 = 2568.29

12% of 9473 27% of 1016 14% of 1564 96% of 7288

= 1136.76 = 274.32 = 218.96 = 6996.48

4% of 3303 23% of 4377 88% of 4513 99% of 1989

= 132.12 = 1006.71 = 3971.44 = 1969.11

83% of 4220 8% of 6566 42% of 7277 23% of 3397

= 3502.6 = 525.28 = 3056.34 = 781.31

6% of 5772 88% of 1779 63% of 8029 62% of 8562

= 346.32 = 1565.52 = 5058.27 = 5308.44

56% of 3028 89% of 393 21% of 3039 39% of 9947

= 1695.68 = 349.77 = 638.19 = 3879.33
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